Question Booklet Series - B

HRAUIHT: - Siafafaums

GOVERNMENT OF 1NDIA: DEPARTMENT OF SPACE

ISRO SATELLITE CENTRE BENGALURU

' qﬂ&mﬁlTest Booklet

GRiaiGTa/ Date of Written Test 13.11.2016 (Sunday)

fdwarTrade Technical Assistant (Electronics)
QRI&E /Duration of Written Test 09.30Hrs to 11.00Hrs

TP B No. of questions 60

14

No. of pages in the booklet {(including cover page)

qﬁ&rrﬁﬁﬁ % ﬁTQ GI'_;I_,%QTflnstructmns to the Candldates

g T, uﬁ&an%aﬁ%wﬁ%lwﬂqﬂ&rﬁﬁfaﬂwwmﬁwml

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

OMR Tiie W feerd! &1 ®rgd® ulgu) OMRQﬂEWvﬁaﬁ?&m#Gﬂﬁaﬁﬁ%amﬁﬁsﬁqéﬂawWW (@1t e 9
EhsEL '

Read the instructions on the OMR sheet carefully. Use on!y Ball Paint Pen (Black or Blue) for writing/ shading/ bubble on OMR
sheet and marking your answers,

Sl & R, aft yeniRE! # SR TR ¥ U e OMRSRR Sie s om&ﬂa%wm&‘qg@maﬁﬁﬁwmw
e qtendf &) Giar s

A separate OMR answar sheet with carbon impressicn is provided to alf the candidates for answering. On completion ¢
tear the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to the
and retain this duplicate copy with you.

Wﬁwu%%ﬁﬁw@mmﬁwﬁmwwﬁﬁ@m), (B), (C) SR (D)F T fo Rw il | zom {i57e
TP T F&! oI ;

Each objective questlon is provided with a text and/or figures wherever applicable W|th multiple answer choices (A), (B), .-, wu
{D}). Only one of them is correct,

Tt aRIFY WP R & Ul & GHH 3 51| U5 IR & R A eles, I S R Y SR T SR P oW U 9i Hrerwer| et

Uy & T gg IO S TTeld SR T S
All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for wrong
answer. Multiple answers for a ql_Jestion will be regarded as a wrong answer. .

o GRErT ot EigRl ol SR % bR U Aur B A1 ¢ A D i ey 8, R omR e R, & ar g § fereew sifard €1
Rr s e W, SOR-yfRIT BT gEE e Rt oo

Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory to be written on the
OMR sheet in the box and bubble appropnately, falhng which, the answer sheet will not be evaluated.

gfRes1 1 Sueled STE &l HaRtehal & HIHR &5 HT9 & 1oy SuanT 30 < Tadr 1 e  2ite T8 fear s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

SRRy e Y TR e Ted, el @ SRRy e ve g we Rre G vl B ot A B T 4 iR
B B

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. Candidates should sign
against THEIR names only.

TR 3 37 A (1) wrer e e Wi S det (2) 7 OMR 3ea¥ e 3 (3) weer wH, A 0as o) oy e &) Rt o

aRERT & 3¢ aignel gamr aex "¢ o S @)
At the end of the test (1) Written test Call Letters(s) with photograph pasted on it {2} Original OMR Answer Sheet and (3)
Question Paper shall be returned to the Invigifater and shall not be carried by the candidate under any circumstances.

Page 1 of 14




Question Booklet Series - B

Questions:
60 Questions to be filled

1. TWT # efloresniY &1 3991 F fou fpararary
An attenuator is used in TWT to

(A) Tidedqica/ Prevent saturation
(B) W@ I=8wT/ Help bunching
(C) T9de aietell/ Prevent oscillations
(D) SR8 AgeT / Increasing gain

2. Wb 3 Tereh #1 FTCRIRE T T [vniE i
A semiconductor has temperature cdefﬁcient of resistance.
(A) VUPHIHD / Positive
(B} XA/ Zero .

(Cy HBUNHD Negative
(D) IR @18 ) 116t None of the above

3. TR.UANREE H HEAT: & fav st Teaa fear mr g
ARM processors were basically designed for
(A) 9% %t yuTlell / Main frame systems
(B) faaiya wowelr / Distributed systems
(C) HiarSer Yomelr / Mobile systems
(D) YR FFYLY/ Super computers

4. Tty giiewor ¥ emuR 1R, ifimay ad e T S et 2

On the basis of dimensional equation, the maximum number of unknown that can be found, is
(A) T& fone
(B) @litwo
(C©) dM fthree
(DY R /four

5. U 3 FARE po WY SKANS 1 9N 38 HITE 7 gl g

A forward biased pn junction diode has a resistance of the order of

A) Q
@) xQ
© Mo

(D) 39U BI5 7461/ None of the above
6. Thudiieiey de o e e Py e

Which of these sets of logic gates are designated as umversal gates?
(A) NOR, NAND.
(B) XOR, NOR, NAND.
{C) OR, NOT, AND. ‘
(D)  NOR, NAND, XNOR.
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7. JUYE YR 1 AHgfa e G

The frequency range for satellite commurication is
(A) 1kHz-100kHz
(B) 100kHz-1 MHz
(C) 10MHz--30MHz
(D) 1GHz-30GHz

8. sl omarfienyiwis T g
Which of the following is not a binary code?
(A) HRE/Morse
(B) TIRE/ARQ
(C) digle/Baudot
(D) WA d-2 1 CCITT2

9. U e forae s d 3 e g 1 Fr aikRe R B%!Hﬁmm‘mmaﬂ?mmwﬁ
ar, e afarer g

The resistance of a conductor of diameter d and length Lis R Q. If the diameter of the conductor is halved
and its length is doubled, the resistance will be ‘
(A) RQ
(B) 2RQ
(C)y 4RQ
(D) 8RQ

10. A3 ©hlT W= 5w wied] UeRfd diar g, A an g e 21

If frames are displayed on screen fast enough, we get an impression of
(A) TR/ Signals

(B) WM/ Motions
(C) OFHTH /Packets

(D) fecg/ Bits

11. faw=fafia o & v gReega oAl g Sl TEir faeeme A9 3 372teT fohar oI &
One of the following transducers is used for very small linear displacement measurements
(A) wadSid/ VDT
(B) - TR 71T/ Pirani gauge

(C) TIUAYE / Thermocouple
(D) U §TBIST /Shaft encoder

12, €n3mestsy e faftr & 3uRier s sirar 8
The CRO uses Method of focusing
(A) Electronic
(B) Electromagnetic
(C) Electrostatic
(D) Electromechanical

13. Tifoler 1T & SM1STYE W Ud DIl 91 g ararg!
A small circle on the output of a logic gate is used fo represent the:
(A) Comparator operation.
(B) OR operation.
(C) NOT operation.
(D) AN operation,
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14, F a9l 715 w2l 317 715 F Ay W e & o3 §
In each node is connected to every other node by direct links.
(A) TSNS/ Ring topology
(B) dramieiall/ Tree topology
(C)  Frer aresit /Mesh topology
(D) TR AYST/ Star topology

15. o ARl 7l

A fetch cycle is the
(A) I YIZIPT T UT UIT/ First part of the instruction cycle
(B)  Jaw Ugldd Srsifos urr/ Last part of the instruction cycle
(C)  3fJa A5fed S UFT/ Intermediate part of the instruction cycle

(D) SFJexIsfahe BIYRe WAT /Auxiliary part of the instruction cycle.

16. ot i IO g g8y s 39197 fShar Srar § dF a8 T # 9ol 21T §1
When transistors are used in digital circuits they usually operate in the:
(A) |fhT &/ active region
B) @I &/ linear region
(C) &% 33T 817 / breakdown region
(D) Uit AT He3ns 819/ saturation and cutoff regions

17, 31feRhc TSR UEHAT 39T L B
Most radar antennas use a
(A) 13ud/ Dipole
B) ﬁlﬂﬁ a7y g/ Broadside array
(C)  #ir SR Raafder WEd®s / Horn and parabolic reflector

(D) Hel&® G/ Collinear array

18. qga7 = 8051 #, Torwey foraenr ¥iftrer ariensr ew T1 31K R1 & g wtar &
In 8051 microconiroller, the register that holds the serial data interrupt bits TI and RI is
(A SMOD
(B) SCON
" (C) PCON
D)y IE

19. S5 ¥ fage fava ot Raifér wfta s wear g1
EEG can involve the recording of electrical potentials from
(A) =RuE g, uiErss ¥ PRy sowsy gr
Groups of neurons, via electrodes inserted into the brain
(B) W@"H/ Single neurons
(C) R ®up, RR @) wad vy soecsy gry

Groups of neurons, via electrodes placed on the scalp

D) St g4l /All of the above
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20. TP § IR dicear (st sar gl

The voltage induced in an inductor is represented as,

(A) TREar 8 @Y} YRT b [OFTHA

Product of its inductance and current through it.

(B) URehdl 3R IHP! URT & F4elld & BT [UAGT

Product of its inductance and rate of change of current through it.

(C) TR T SHSD! YRT BT U

Ratio of its inductance to current through it.
(D) IGS YRT Y UReal BT ST

Ratio of current through it fo its inductance.

21. ISDN 3 3{es1d el gl
The fundamental concept in ISDN is the
(A) W@l EHT/ Analog signals
(B) 3P e wig / Digital bit pie
(C)  3mareT T/ Voice communication
(D) T garR/ Computer communication

22. WfEE B BT ST §
Dimensions of relative density are -

(A) GO/ 9g? / mass/ length™

(B) SoUHM x AaTSY/ mass x length?

(C) I DS AT T / It has no dimensions
(D) ER® / AR/ length’/mass

23. Mﬁaﬁawmaﬂ%mﬁaﬁmﬁw Bl
In an ideal regulated power supply is one which has voltage regulation of
(A) 0%
B) 5%
© 10%
™ 1%

24, PR & & et o AR v iRt 31 U AR B oger ST A 3 57 3 3ler et

Which of the following memories uses one transistor and one capacitor as basic memory unit

(A) SRAM

(B) DRAM _
(C) Both SRAM and DRAM
(1) - None

25, ferTieriard srdverere o fererall o7 & Ry < aeier werer 3 Foiiar R S Aepdr B

Which of the following semiconductor devices can be used in an enhanced mode?

(A) UuIT

(B) NPN transistor
(C) IJFET

(D) MOSFET
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26.

27.

28.

29.

30.

31.
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T TE BT TS H 32T Ty s R
Transmission line must be matched to the load to

(A) IS &I SHUBaT dieed] RIFNG / transfor maximum voltage to the load

(B) e ! siipdn diecal RIFRG / transfer maximum. power to the load
(C) YT FABL/ reduce the load current

(D) QIS DI TSI URT WMEIART ®3/ transfer maximum current to the load

Uep Yy ud ciRegER B Wl Fr iafdy FeaT d
A Thermistor is a transducer which converts
(A) <I9S Y MU | Temperature to resistance
(B)  UTH ¥ dlcedl / Temperature to voltage
(C) dMUHr ¥ YRT/ Temperature to current

(D) SWRIF DY T8/ None of these

AFe F e sitfclsn aieTs e &) shevyed I v §
Inthecase of  adirect physical connection path is established between two computers.

(A) ooy RERET/ Circuit switching
(B) Yape fRafei/ Packet switching
(C) A AT/ Message switching
(D) SIeUm/ Datagram

“C HEA: T fear o
‘C’ was primarily developed as _
(A) WIOTIE WHaNTHaT $T9T / System programming language
(B) |rHEY YISt #9l/ General purpose language
(C)  3iTenar T §19T / Data processing language
(D) 391 $Is =16t / None of the above

ArecHiet T gafgdr 7 zaerd &
Voltmeter sensitivity is expressed in

(A ohm /V

(B) V/ohm

(Cy Ohm-V

(D)  Volts

T3 e et 3mafcd 7 gerqe v dleear sge §, A 313eye deedn

In an unregulated power supply, if input a.c. voltage increases, the output voltage
(A) @aarg/ Increases

(B) wear &/ Decreases
(Cy dATErwarg/ Remains the same
(D) SWIad @5 ST AE1 / None of the above
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32, 3-getqe OR ¢ & Gy oM AU 9 adar e, # wlet Wy 3i3eye o T g

For a 3-input OR gate, with the input waveforms as shown below, which output waveform iscorrect?

INPUT A —J ‘—‘ l I

INPUT B m

INPUT C Lrv—l——-———
QUTPUT a i
OUTPUT b r

CUTPUT ¢

QUTRUT d__r |
(A) a

(B) b
€ ¢
D) d

33. DMA gRarent & fow a0 & 3Wer ff aWor & @6d &l
The concept of utilizing the bus for DMA operatlons is known as
(A) CPU TIfdT/ CPU cheating

- (B) unfa iR/ Cycle stealing
(©) CPU WA /CPU stealing
(D) SWRIE P15 -Te! / None of the these

34. DIAC 3 i a1l oiferet &
ADIAC is nothmg else buta -
(A) TRIAC feTr e effiert & / TRIAC without the gate terminal

(B) GTO & wrrgl €/ GTO with two gates
(C) SCS & |1y ush 31 / SCS with one gate
(D) <ifaecT & 919 U Gieih / Transistor with one junction

35. Eepey Wihere ST &TRT 96T &1l &
The skin effect causes current to flow
(A) TId@ B HE A/ In the center of the conductor

(B) ITE® & g & URG / Near the surface of the conductor
(C) TTaF & T DR P UR / Through central core of the conductor
(D) Ad® F TR TH ¥0 H/ Uniformly through the conductor
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36. fArafaf@a & & =l arafrg doa -

Which of the followings is/are active element?

(&)
(B)
©
(D)

dieedr @a/ Voltage source

R ¥l / Current source

G/ Both

IWRIad H 1S T8/ None of these.

37. Fra VHDL 3iihst 5o 37 [t 1 a1 0 Fod g) Tl 57
Which VHDL data type can only have a value of '1' or '0'?

(M)
(B)
©
(D)

et/ signal
fSe/ bit
std_logic/ std_Jogic

§I¢IR / integer

38. pnEINET wﬁmm%l

A pn junction actsasa

@)
®)

©
(D)

g &=/ Controlled switch

iafe=mf %=/ Bidirectional switch
e fammt ;99 / Unidirectional switch
JURIdd )% 18/ None of the above

- 39, U s el gl e

The body will move only when

(A)
(B)
©
)

U1 9 = ST el / Force of friction = applied force
Iy e <SFWRIE 9/ Force of friction < applied force

TYUT sfe] >3RI ¥/ Force of friction > applied force
JURIGT A/ All of the above

40. <F 1Y R Y diee 9 W, TH OP-amp T e IMBeGe B A1eT|

With zero volts on both inputs, an OP-amp ideally should have an output

(A)
(B)
©
(D)

HDPNIHP Gﬂ‘ljfrf Jlecdl & THH/ equal to the positive supply voltage
BUHD G{IH'\Fcf Jredl & WM / equal to the negative supply voltage
A S A/ equal to zero

CMRR & 91 / equal to CMRR .

41. fufafad § Y o 9 faau a7

Which of the following statements is incorrect?

(A)

(B)
(©

ﬂLWﬁWWWWW%@?WWWWﬁW
SUaNT far S g1

TTL logic has very low power consumption and is therefore w1dely used in hlghly
integrated components.

TTL g o aifvis TR #0934 V iR 0.2 VEar gl
TTL devices have logic levels of about 3.4 Vand 0.2 V.,

TTLAR AR T 5 V $Haff varer 3/
TTL logic normally operates from a single 5 V supply

(D) WﬂL@ﬁWW%%@EWW%WWWUW%I
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Standard TTL devices have a propagation delay that is dominated by the storage time of the
bipolar transistors used.

42 ferrmfat@e fh arera @ aRy R3 # femme #F fermar S sgar g1

Under which of the following case the power dissipated in R3 in the circuit shown will
increase?

(A)- W& RI1ai §@RI 8/ When R1 is increased

(B) SER2BIGIIE/ When R2 is doubled

© E B HH IR/ E is reduced

(D) R4 @ 3eq uRay fhar I g / R4 is short circuited.

R1
A

R2

R3

R4
AV

43. W HIE T Q B |

Q factor of a coil is given by
(A) XL/R
(B) R/XL
(C©) XL/ Xc
(D) X XL

44, Foffer R # Fafeaee sl BART &7 ST &
In sampling theorem the Nyquist interval is given by
(A Ts= |

fm
B Ts= 1

2m
C) Tse= 1
mfin
®) Ts=

fm

=

45. WWW HAE el §1
The WWW is a(n) layer protocol
(A) ifd@®l/ Physical '
(B) Sf™NT/ Application
(C) SfIBSI &N/ Data link
(D) A/ Session

46, e T AT TATAIR Foae 1 HRATS & 3767 §?

Which gate corresponds to the action of parallel switches?.
(A) OR gate
(B) NOR gate
(C) NAND gate
(D} AND gate
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- 48.

49.

50.

51,

52.
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T T YHoT 3¢ 3iflyugur 3
is the transmission and reception of information.
(A) HI§EI/ Modulation
(B) HYR/ Communications
(C) T1didur/ Radiation
(D) SIS/ Emission

AT AT TR HHFA GeIc WA T TG 38 ahidelT G|
Before audio or video signals can be sent on Internet, they need to be
(A) %ﬁ?ﬂ@‘_ﬂ [ Channelized
(B) IRIE/ Managed
(C) 8ieldd/ Digitized
(DY Wi/ Organized
eI Qe oga e Qe arger & fgid  3menia &

Which of the following microwave tubes is based on the principle of velocity modulation?
(A) TWT/TWT
(B) UR@ECRIS/ Pencil triode
(C) WOTFICH/ Magnetron
(D) TR/ Klystron

31T SBTCT 81T § Sid AT a1 &7 oy & &7 4 ?

Maximum efficiency will occur, when copper loss is to iron loss?
(A) M€l Greater than
(B) U ®/Less than

(C) ¥WHM/Equals to
(NI IR Y gt/ Any of the above

At T THETTE

Principle of laser is A
(A) A AN/ spontancous absorption

®) eFEIRG Jo / simulated emission
(C) RO/ induced emission
(D) < (B) Td (C)/both (B) and (C)

Ueh Sfifoith A1 & Yol — HTHC &l Adeld F2AT§7?
What is meant by the fan-out of a logic gate?
(A) 3R TR BT HBI S T F Ky F oS gad Bl
The number of other gates that can be connected to the gate's output.
(B) YfdR W emGeye [u-l & offa ot aitfae ot
The physical distance between the output pins on the device.
(C) S TIT &t 1 o 1€ & ggel H Y UH B Ui SiNsl o 9o g
The number of other gates that can be connected to one of the gate's inputs.
(D) e giRT SIUTer ider @ AT

The amount of cooling required by the gate
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53. ARM # 3138 v9¢ gl
The address space in ARM 1s
(A) 2724
(B) 2"64
(C) 2716
(D) 2732

54, Rrrtafaa vonfertt 7 & TaAri Hist €rg?
Which are the following systems is analog?
(A PCM
(B) DM
(C) DPCM
(D) PAM

55. fawarw fREt e NOR e w1 wigedr§ 2
Which of the figures given below represents a NOR gate?

1o 1> &> 47 0

- a. d.
(A) a
B b
© ¢
D) 4

56. | 3arE 3AYONTY I AfF FaTeT FeT g SRl sl SRR oham STTeTT &1
Batteries are used to power all satellite subsystems
(A) I gTai o/ At all times
(B) W U & R Only during emergencies
(C) vgunaferdi s &R/ During eclipse periods
() IR W H AN T8/ to give the solgr arrays a rest

57. 3T TR Yo7 I et B
Data communication refers to the transmission of
(A) 3ars/ Voice ,
(B) FFoged 3iTehsr/ Computer data
(C) @ifE=r/ Video
(D) 3T F1E w1 /AL the above

58. NPN ifSreet & 3 71 3fecst ST waTg Fid 8
Most of the electrons in the base of an NPN transistor flow:
(A) daeR P @/ into the collector

(B) < RRT% g/ “out of the base lead
(C) URER® 3fEX/ into the emitter
(D) SEYGHID 3@/ into the base supply
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59, 0 e T AR & W ellet o §
T8 FUPIH F BROUSA R

Sun appears red at sun rise and sunset. This is due to scattering of
(A) el adricel / longer wavelengths
(B) Y q&TeH / shorter wavelengths
(©) T sgimi/ lower frequencies
(D) udl argfaat/ all frequencies

60. C W & #7=M=T i o o T TErIT | SN
C Programs are converted into machine language with the help of
(A) UiEeT/ An Editor
(B) SFUEeR /A compiler
(C) we ATET yoTell /An operating system
(D) =T 3 1S 8 78T /None of these.
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